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7) Abbey has a triangular piece of fabric with two equal sides measuring 18.4 inches each. If
the third side is 12.8 inches long, what is the area of the fabric?

A triangular park has two equal sides that are 25.2 yards long. What is the area if the third
side measures 20.5 yards?

a) 74.51 ft2 b) 73.37 ft2 c) 79.16 ft2

a) 30.63 in2 b) 51.47 in2 c) 35.19 in2

Area of Isosceles Triangles | Decimals 

Find the area of each isosceles triangle. Round your answer to two 

decimal places.

Which of the following is the area of the Isosceles triangle?4)

5) Which of the following is the area of the Isosceles triangle?
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